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SAMPLE TEST PLAN
 

Stress Test in support of a new SAP Disk Subsystem 

Technology Stack Overview:

· 2 HP EVA/HSV110 cabinets

· 84 drives (15K), 72GB
· 1 SAP DB Server, identical to Production (PRD)

· 2 HBA’s in the DB server, identical to PRD
· W2KAS, Service Pack 2, CSSP/Drivers identical to PRD
· SecurePath identical to PRD
· Document the EVA and Server config in terms of FW, SW, drivers – anything related to disk (plus CPU & RAM config) 




Specific Technology Layer Tools/Resources Required:
· SQLIO
· SQLIO test scripts and configuration file
· 1 Server to run SQLIO tests from (2CPU or better, 512MB RAM)

Test 1: MEGA-GROUP

EVA:
Configure one large group of all 84 drives. 

Create 10 LUNs of 100 GB each.

Server: Format each LUN for 64k NTFS.

Label the 1st 6  LUNS: DB05-1, DB05-2, DB05-3, DB05-4, DB05-5, DB-5-6

Label the next 4 LUNS: DB45-A, DB45-B, DB45-C, DB45-D

SQLIO: Perform the following SQLIO Testing (Ran R, Seq R, Ran Write, Seq Write):

Run suite of SQLIO on DB05-1 only - three times

Run SQLIO on all 6 DB05 partitions ONLY – three times

Run SQLIO on all 4 DB45 partitions ONLY – three times

Run BOTH DB05 & DB45 SQLIO tests CONCURRENTLY (stress test) – 3 times

Test 2: TWO-GROUPS

EVA:
Configure TWO different groups, each with 42 drives each. 

Create 5 LUNs of 100 GB each on EACH GROUP (for 10 total).

Server: Format each LUN for 64k NTFS.

Label the 1st 6  LUNS: DB05-1, DB05-2, DB05-3, DB05-4, DB05-5, DB-5-6

Label the next 4 LUNS: DB45-A, DB45-B, DB45-C, DB45-D

SQLIO: Perform the following SQLIO Testing (Ran R, Seq R, Ran Write, Seq Write):

Run suite of SQLIO on DB05-1 only - three times

Run SQLIO on all 6 DB05 partitions ONLY – three times

Run SQLIO on all 4 DB45 partitions ONLY – three times

Run BOTH DB05 & DB45 SQLIO tests CONCURRENTLY (stress test) – 3 times

Additional Testing:

We also want to think about how to address Doug Koenig’s questions/issue with the activity that will be seen on the logs volume. For example:


· Simply add a % delta ‘hit’ to the number of I/Os, and extrapolate

· Run 2 SQLIO’s at a time – one to represent DB, one to represent Logs

